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» Basic concept:-

»A= 40

»B=60

= A is what percent of B?

= A, B &7 o= Tfaera g7
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Basic concept:-
» A= 40
» B=60

= B is what percent
more than A”?

= B, A¥ haq gia9d
ATerF 272
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Question 1- If 11-% of a number added with itself then result
comes 1200. Find the original number?

T 1- Tia el T=9T & 11—%3E|%r<1e1v|s ST q
IO 1200 AT g1 Yo TEHT ST Hiiora?

A.1070
B.2080
C.1080
D.2280
E.None of
these
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Question 2- If the selling of ticket increased by
10% and cost of ticket also increased by 15%.
Then find percent increase in revenue.

727 2- 7t feshe &t foeht § 10% #1 9t g2 o foe

] AT H AT 15% =l Il gl O Trored § TIqerd

It AT I A.33.5%
B.36.5%

C.15.6%
D.26.5%
E.None of

these
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Question 3- If Ais 5 times of B. Then B is what
percent less than A?

T 3- Tt A, B &T 5 AT 81 a1 B, A H fohad Tiaerd
FH 7

A.40%
B.50%
C.80%
D.70%
E.None of
these
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Question 4- A reduction of 25% in the price
enables a man to buy two kg more sugar for Rs
240. Find the reduced price of sugar per kg.

T 4- AT H 25% Fl FHT Tah F(<h Hl 240 =9I &
2 kg 3Terh =T @ad | 9e1H a49Td1 2| Tia 6T
=TT T 2T T30 T AT hitord|

A.Rs 40/kg
B.Rs 30/kg
C.Rs 20/kg
D.Rs 15/kg
E.None of
these
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Question 5- A student scored 20% marks and
fails by 30 marks. If he scored 32% marks he
gets 42 more marks than the passing marks.
Find pass percentage?

T 5- Tah a1 o 20% 3 979 o0 3T 30 3ehi §
AT BT TATI T2 o2 32% 30 ITH Fi 2 T
I ITATOT 3Tehi =hl ToAAT H 42 affa%ﬁaé AR
ST ITAerd AT hiford? o 70

C.20%

D.30%

E.None of
these
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Question 6- In an election between two candidate
the winner get 60% of the votes polled and he
wins by 18000 votes. Find the number of votes by
winning candidate.

T 6- I IFHISATA o 19 Teh FA19 | fasidr

60% < W g 3fiT a8 18000 aﬁﬁ%‘iﬂ%@

o N i\ :
ST aTel SFHIEATL o Al ol &7 Sllg

C.66000

D.90000

E.None of
these
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Question 7- In an alloy 15% is iron. To get 81 kg
of iron how much alloy will be required?

TsT 7- Uk T &g § 15% <iar g1 81 TRt «rgr It
LA o TorT fohae T & T a9 T=haT i ?

A.500 kg
B.540 kg
C.500 kg
D.504 kg
E.None of
these
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Question 8- In a container 120 liter mixture of milk
and water having 80% milk. How much water
must be added so that milk becomes 60%?

T T30 | g 3T qTT 1 120 e o7 g SoeH

80% T4 gl TH Tl 60% FAT % forw foha=r gt

A.70 liter
B.40 liter
C.30 liter
D.20 liter
E.None of
these

[N [N
[HTTIT STTAT AT ?
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Question 9- A person’s office working hours are
10 AM to 5 AM from Monday to Friday. What
percent of whole week he spend in his office?

7 O- Ush 1<k b HIATAT H HTH A 1 97
AT | R d% a8 10 o 9 a8 5 S T+ 2

T AT FATAT H L THTE FT a1 {45, @

B.40.2%
C.30.8%
D.20.8%
E.None of
these

AT 87







